1 1TL27 (K1 1n27)

Linearized knot diagam

Solving Sequence

11 — ~>14—> —> —> —> —> —> C2,Cyq,C
Aknotdlagranﬂ 8, gl i g 10077 3,705 >

Ideals for irreducible component#ﬂ)f Xpar

I = (2085u'® — 3383u!® + - - - 4 49220 4 953, —953u'® + 5897u't + - .. + 49224 + 34271,
u'® —4u’ 4 —10u+ 1)

=, —v’4+a—u+1, v’ +u*—2u> —u?+u—1)

=0b-a-1,a*+a—1,u—1)

* 3 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. I* = (2085u'® — 3383u'* + - - - + 4922b + 953, —953u'5 4 5897u'* 4 ... +
4922a + 34271, u'® —4u'® 4+ ... — 10u + 1)

(i) Arc colorings
1
as
an = )
—ud + u)

0.193620u'° — 1.19809u'* + - - - — 13.7284u — 6.96282 )

ag =
ayp =

ag = \ —0.423608u'® + 0.687322u!* + - - - — 4.02662u — 0.193620

0.108899u!® — 0.139374u'* + - - - — 12.8663u — 4.79846)

az = ( 0.576392u' + 1.31268u'* + - - - — 4.97338u + 0.193620
—u +1
—ut 4+ 202

(0 .878505u® — 2.34579u™ + - .. — 4.05607u — 3.47664)

1.00264u® — 2.16640u* + - - - 4+ 3.58818u — 0.728769
0.0534336u% — 0.366315u'* + - - - — 11.4854u — 4.89740)

ar =

az = \0.340309u'® — 0.439456u'* + - - - — 2.29277u — 0.129825

0.136936u'® — 0.626981u'* + - - - — 5.58228u — 3.01463

as = \ —0.576392u'® + 1.31268u!* + - - - — 4.97338u + 0.193620

—0.439456u'® + 0.685697u'* + - - - — 10.5557Tu — 2.82101)

as = \ —0.576392u'® + 1.31268u'* + - - - — 4.97338u + 0.193620

(—0.439456u15 + 0.685697u'* + - - - — 10.5557u — 2.82101

as = \ —0.576392u'® + 1.31268u'* + - - - — 4.97338u + 0.193620
(ii) Obstruction class = —1
() Cusp Shapes — 2115 — £30,01 4 ...+ 320 - 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w® — T+ 4 3u+1
C2 u'® 290 4 1T+ 1
c3, C7 w'® +2ut 4 7202 — 32
cs w3y -1
Cg, C10 w®—2u® . —200u—4
cg,Cy,C11 w® —4u® o —10u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 Yy —20y1 4+ — 1Ty + 1
C2 Yy — 7Tyt 4+ — 1761y + 1
3, C7 y® — 36y + - - — 4608y + 1024
Cs Yyt =37y . — 11y +1
6, C10 YO+ 18y + ... — 168y + 16
cg, Cg, C11 ylG —20y15+~-~— 146y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u = —0.852448 + 0.2788961
a= 0.25417 — 1.556651 —3.23204 4- 0.761021 —14.1078 + 3.18451

b= 0.434441 + 0.6149561

u = —0.852448 — 0.2788961

a= 0.25417 + 1.556651 —3.23204 — 0.761021 —14.1078 — 3.18451
b= 0.434441 — 0.6149561
u=—1.11713
a= 1.01314 —2.15355 —1.76420
b= 10.393183
u= 0.727902
1.19391 —10.0599 —3.26620
b= 1.74112

u = —0.665595 + 1.1077201
a= 0.109829 — 0.9964261 —16.5506 + 3.58131 —12.12116 — 2.159941
b= —2.57424 + 0.305021

u = —0.665595 — 1.1077201
a= 0.109829 + 0.9964261 —16.5506 — 3.58131 —12.12116 4 2.159941
b= —2.57424 — 0.305021

u = —0.374592 + 0.4138981
a= 0.238036 — 0.8352241 | —0.428790 + 1.1669301 | —5.36023 — 5.578961
b= —0.289006 + 0.4118751

u = —0.374592 — 0.4138981
a= 0.238036 + 0.8352241 | —0.428790 — 1.1669301 | —5.36023 + 5.578961
b = —0.289006 — 0.4118751

uw= 149641 + 0.195211
a = —0.467729 — 0.2126631 | —6.69050 — 3.497981 —9.87558 4 1.256651
b = —0.140592 — 0.9340271

uw= 149641 —0.195211
a = —0.467729 4 0.2126631 | —6.69050 + 3.497981 —9.87558 — 1.256651
b = —0.140592 + 0.9340271




Solutions to I* v—1(vol + v/—1CS) Cusp shape
= —1.70971
= 2.04995 —19.0073 —12.9680

2.70628

1.67172 + 0.419231
—1.56150 + 0.788781
—2.44091 — 0.956231

15.4222 — 9.33371

—13.42948 4- 3.490931

= 1.67172 —0.419231

—2.44091 4+ 0.956231

15.4222 + 9.33371

—13.42948 — 3.490931

1.73172 + 0.082461
= 1.31289 — 0.536291
1.88369 — 1.193691

—12.66300 — 2.314601

—13.80105 + 1.175581

1.73172 — 0.082461
1.31289 + 0.536291

u

a

b

U

a

b

U

a = —1.56150 — 0.788781
b

U

a

b

U

a=

b= 1.88369 + 1.193691

—12.66300 + 2.314601

—13.80105 — 1.175581

u= 0.0844975
a = —8.02839
b= —0.587345

—1.09573

—8.61160




II. 1Y = (b, v +a—u+1, v>+u*—2u®> —u? +u—1)

(i) Arc colorings

0
ail = \u
1
ag— u2
—Uu
ar = \—ud+u
w+u—1
aq = 0
uw?—1
az = \ —ud +u
—u?+1
ajo = \ —ut + 2u?
1
a7 = \0
wHu-—1
az = 0
—ud + 2u
ag = ud —u
u
a5 = ud —u

u
as = \u3 —u

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u* — 3u® — 2u? + 8u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ (u—1)°

C2,C4 (u+1)°

cs3,Cy u®

& ub = 3ut + 4w —u? —u+1

6 ub —ut 20 —ut fu—1

cg, Co WHut =20 - tu—1

C10 WwCHut 20+ tu+1

c11 Wt =2+l tu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
€ -yt 8y =3 +3y—1
€65 C10 3yt A+t -y -1
Cs, Cg, C11 v’ =5yt +8y° =3yt —y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u= 121774
a= 1.70062 —4.04602 —8.24330
b= 0

u=0.309916 4 0.5499111
a = —0.896438 + 0.890762] | —1.97403 — 1.530581 | —10.50099 + 3.459761
b= 0

u=0.309916 — 0.5499111

a = —0.896438 — 0.890762] | —1.97403 + 1.530581 | —10.50099 — 3.459761
b= 0

u = —1.41878 + 0.219171
a = —0.453870 — 0.4027311 | —7.51750 + 4.400831 | —14.3774 — 5.82971
b= 0

u = —1.41878 — 0.219171
a = —0.453870 + 0.4027311 | —7.51750 — 4.400831 | —14.3774 + 5.82971
b= 0
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L. 1y =(b—-a—1,a*+a—1, u—1)

(i) Arc colorings

ag —

a5 =
—a—2
a5 = \—a—2
(ii) Obstruction class =1

(iii) Cusp Shapes = —21
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,C3 u+u—1
€2 u? 4+ 3u+1
2
Cq4,C7 u—u—1
5 u? —3u+1
2
Ce, C10 U
cs8, Co (u—1)>
2
C11 (’LL =+ 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y2_3y+1
Cr
C2,Cs y2 —Ty+1
Ce6, C10 y?
2
Cs, Cg, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

1.00000
= 0.618034 —10.5276 —21.0000

1.00000

—1.61803 —2.63189 —21.0000
= —0.618034

U
a
b= 1.61803
U
a
b
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u—1)(w? +u—1)(u'® —7u!® + - +3u+1)
C2 ((u+1)%)(u? + 3u + 1) (u® +29u™ + -+ 17u+ 1)
3 u® (u? 4+ u— 1) (u'® + 2u" + - 4 720 - 32)
4 (u+ 1)) (u? —u—1)(u'® = 7u'® + -+ 3u+1)
¢ (u? —=3u+1)(u® = 3u + - —u+ 1) (w'® = 3u® + - Fu—1)
6 w?(u® —ut - u— 1)t =20 - = 20u — 4)
7 u®(u? —u— 1) (u'® 4+ 2u'® + -+ 72u% — 32)
C85 C (u— 1) +u* 4+ +u—1)(u® —4u'® + - — 10u+1)
c10 w?(u® +ut w4 D)t — 20t 4 — 20u — 4)
c11 (u+ D)W —u* 4+ u+ 1) (u® —4u'® 4 — 10u +1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢4 (y— 15 (?* =3y + 1)y —299"° + ... — 17y + 1)
€2 (=)W =Ty + (" =77y + -+ — 1761y + 1)
cs3,Cr yP(y? — 3y + 1)(y*® — 369'° + - - — 4608y + 1024)
% W =Ty + D =y +- +3y = Dy =37y + - — 1y + 1)
C6, €10 v+ 3y - —y = Dy +18y" + - — 168y + 16)
Cs; €9, C11 (=D =5y + - —y—1)(y'® —20y" +--- — 146y + 1)
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